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. Which of the fullnwing serve(s) as the

source of carbon in plants?
|A] CO, of carbonate rocks
[B] Atmospheric Co,

[C] Fossil fuel

[D] All of the above

[E] Unattempted

- The pyramid of biomass will be

inverted in the ecosystem of

[A] forests EIJTEI

[B] ponds L.
[=
[C] grasslands (D] dry lands

[E] Unattempted

. We and our surroundings together

are called

[A] environment [B] atmosphere
[C] lithosphere [D] hydrosphere
[E] Unattempted

. In atmosphere, what carry/carries air

pollutants to other places and other
countries?

[A] Waves [B] Prevailing winds
[C] Water [D] Sunlight
[E] Unattempted

In a food chain, the largest population
is that of

[A] producers

[B] primary consumers
[C] decomposers

[D] secondary consumers
[E] Unattempted

Denitrification in sewage treatment
systems requires

[A] the bubbling of oxygen into waste
sewage

[B] the addition of water to waste
sewage

[C] an anaerobic environment
[D] an aerobic environment
[E] Unattempted

T-2/2-A
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T.

10.

11.

(Jewellery/Costume)
(@) Kanthla

(b) Hastband

(c) Khandwa

(d) Balaak

12.

The hydronium ions of acid rain
mobilize toxins such ag

[A] iron

[C] aluminium
[E] Unattempted

[B] magnesium
[D] None of these

The term ‘Ecosystem’ was coined by
[A] A. G. Tansley

[B] E. Haeckel

[C] Reiter

[D] R. Lindeman

[E] Unattempted

. Why is recycled paper banned for use

in food containers?
[A] Because it creates a lot of space
[B] Because it creates contamination

[C] Because paper can be used only
one time

[D] Because paper is very thick and
can’t cover the food containers
[E] Unattempted

Which day is celebrated as the Earth
Day’ ?

[A] 22nd April [B] 5th June

[C] 24th October [D] 21st July

[E] Unattempted

Match List—I and List—II :
List—I List—II
(Body Part)
(i) Hand
(ii) Neck
(iii) Septum
(iv) Head
Select the correct answer using the
code given below :

[A]  (a)-(ui), (b)-(iv), (c}-(i), (d)-(ii)
(Bl (a)-(ii), (b)-(i), (c)-(ii), (d)-(iv)
(C] (a)-(3), (b)-(i&y), (c)-(iF), (d)-(iv)
(D] (a)-(i), (b)-(3), (c)-(iv), (d)-(iit)
[E] Unattempted

When did the Battle of Berry take
place?

[A] 1799 AD
[C] 1801 AD
[E] Unattempted

[B] 1010 AD
[D] 1802 AD

T-2/2-A

7.

8.

10.

11.

12.
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sieet ant % grggifem A faeres Tl
e # 98

ot e [B] it
[IC1 ] et (D] 374 & & 1§ A
(E]

‘Ecosystem’ (Tritfeafaehy @) waz frmes gm
T T 17

HA] | Toofte T8 (A. G. Tansley)

[B] 3. &% (E. Haeckel)

[C] ¥ (Reiter)

[D] W fegda (R. Lindeman)

[E] 3rwmnféa

qAHeigha STt i @ A H I & fern

) wferafid fopan mn 27

[A] i 8 qgd e IeaH HAT 2

HB| | =ifs 77 qrm Far e 2

[C] wEif% HT et UH IR & I9F fH
EIRCTI

[D] i S 5ga W1 B 2 3 7 mE
U=l @k T8I IT @

[E] TR

fopm fea =t gesft fema’ & €9 3 gamn S 22

22 I B] 53

[C] 24 3R [D] 21 &R

[E] 3ty
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To—1 Tei—1I1
(T / =) (wré e 3im)
(a) ST (i) &
(b) TS - i) T
(c) e -(iii) T FT 92
(d) ST iv) T
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(A] (a}(ii), (bF(i), (), (dFi) g
Bl (a)(iii), (bF(i), (ck(ii), (d)-(iv) Fles
[C] (@)-(), (b-(ii), (c-(ii), (d)-(iv) EmER
DI (a)-(ii), (bF(i), (c-(iv), () (i)
[E] arwfim

a1 1 g hE gIN?
XA] 1799 %o [B] [1010 3o
4€] 1801 %o [D] 1802 %o

[E] mntda
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13. How many PM 8hii Schools will he

14.

1S.

16.

17.

18.

opened in Harvana?

|A] 121 B 173
€] 241 (D] 238
[E] Unattempted

According to CMIE, what was the
percentage of unemployment rate in
Haryvana in January, 20237

iA] 11:'7% [l!] 13- 7%
[C] 19-7% [D] 37-4%
[E] Unattempted

Who composed (wrote) Satyarth Prakash?
[A] Jaitram

[B] Ghulam Qadir

[C] Swami Dayananda Saraswati

[D] Bansilal

[E] Unattempted

Match List I and List IT :

List—I List—II
{a) Pt. Jasraj (i) Ambala
(b) Zohra Bai (i) Rewari
(c) Kallan Khan (iii) Hisar
Codes :

@ (b (o

Al @) 6 ()

Bl @) ) (@)

€l @) @ ()

o 6@ @) (i)

[E] Unattempted

Which of the following Wildlife

Sanctuaries is famous for its beautiful
lake?

[A] Abubshahar Wildlife Sanctuary
[B] Bhindawas Wildlife Sanctuary
[C] Nahar Wildlife Sanctuary

[D] Kalesar Wildlife Sanctuary

[E] Unattempted

What is the sex ratio of Haryana
according to the Census of 20117

[A] 879/1000

[B] 964/1000

[C] 798/1000

[D] 657/1000

[E] Unattempted

T-2/2-A

B0

13, wfvmon i fard dfvog o e e 7
(Al 121 B] 173

J&r 24 m;m

[E]  sroarfers

14, Momiosiodo ¥ seum wrah 2027 4 Afraom

& AT fry uftrer ot
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C] 19-7%
[E] 7wt
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@t agee g
D] aers
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T Th—11
(a) qﬁsawm\ (i) e

(b) SiEq ard (ii) el
(c) g @l iii) feam
L A

(@  (b) (c
Al @) @ ()
By | @) @ ()
T @ @ ()
b @ (@ (W)
[E] arenfad

17. f=fafen 8§ @ sh-w s=ia e FeE

gt 3iiet o foq wfag 27

[4] STEIET FAA AR
e s=rla snmmon
[C] A& a=ASATE IR
[D] HTeTER Fslla HHAO
[E] arrfEd

18. 2011 I SHWHT & IFER i@ 1 fom

FEATA R Y
EE 879/1000
rAWE<(B] 964/1000
BT 1) 708,/1000

w[D] 657/1000

[E] stenfaa
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19.

20.

21.

22.

How many days were the tenure of
Shree Dharam Vira, who was the first
Governor of the State Haryana?

|[A] About 5 months

[B] About 7 months

[C] About 10 months

[D] 1 year 3 months

[E] Unattempted

On September 23, 1965, the
Government of India had appointed a
Parliamentary Committee to study the
question of the division of Punjab
under whose Chairmanship?

[A] SriRam Sharma

[B] Fazl Ali E',,%
[C] Hirday Nath Kunzru [Elri
[D] Sardar Hukam Singh

[E] Unattempted

Which of the following statements are

correct about Haryana?

I. Haryana is a State in the
northern region of India with 23
districts.

I1. It is nation’s 17th most populous
State.

III. It shares borders with Punjab and
Himachal Pradesh to the north
and Rajasthan to the west and
south.

IV. The river Yamuna defines its
eastern border with Uttarakhand
and Uttar Pradesh.

Select the correct answer using the

codes given below :

Codes:

[A] Only I and II

[B] Only I and IV

[C] Only I, II and III

[D] Only II, III and IV

[E] Unattempted

In and districts of Haryana
two special Environmental Courts
have been established.

|[A] Faridabad, Kurukshetra

[B] Panipat, Sonipat

[C] Rohtak, Jind

[D] Ambala, Bhiwani

[E] Unattempted

T-2/2-A

19, sft wiefi, N gfaPn T * S TETA 9,

20.

21.

37 wrdw fpad i &1 me
[A] #mm 5 oéa

(B} @ 7 A
FTTNTI]OIﬂfﬁ

(D] 1a% 37

[E] sAwafaa
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(B] st 3t
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GO C OB

ISR
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et 23 foret &
[I. I8 2N &1 17 91 ga8 o1 JETE; Fre
T3 Bl
ATl 98 W 3 I U feurast wew qun gfim
Ug ufyem § TRAE % Gy {9 Hiwm
TS HAT 2|
IV. g1 7€), IT0Es T@ W WS & Y
FEeht Yefi HHTY ST 21
T 52 1 T Hh /E ITW G ¢
%<
[A] a3
[B] haa III 3R IV
[C] &« I, 11 3 111
[D]] == 11, 11 3 IV
[E] Tt

22, YUTRU AT ) TOAT g %

W AR
FHGTeTG, FEa

[B] urid, v

[C] Ugds, i

[D] sETen, fyarh

[E] orrféa

[P.T.O.
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By what other name(s) was the State of
Harvana known in ancient times?

[A] Brahmavarta Pradesh

[B] Brahmarshi Pradesh

[C] Brahma ki Uttarvedi

(D] All of the above

[E] Unattempted

24. Which of the following is a plate-
shaped instrument (musical) overlaid
with skins?

[A] Drum

[B] Cymbal (tomtom)

[C] Tambourine

[D] Tasha

[E] Unattempted

2S. Haryana Harihar Scheme, 2023, a
scheme by Haryana Government for
orphaned/abandoned children provides

I. free education
II. skill development / industrial
training

[II. jobs

IV. interest free home loans

Select the correct answer using the

code given below :

[A] I and IV only

[B] II and I only

[C] All of the above

[D] None of the above

[E] Unattempted

26. Under Haryana Mahila Samridhi
Yojana 2023, a scheme by Haryana
Government,

[A] Economically Weaker Section
female candidate can get loans
upto %2 lakhs at 5% interest rate
per annum

[B] SC female candidate can get
loans up to 60,000 at 5%
interest rate per annum

[C] Economically Weaker Section
female candidate can get loans
upto ¥2 lakhs at 7% interest rate
per annum

[D] None of the above

[E] Unattempted

27. In the north-east of which district is
Basantpur located?

[A] Rohtak [B] Fatehabad

[C] Yamunanagar [D] Karnal

[E] Unattempted

T-2/2-A
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28. Where is Rajiv Gandhi Thermal Power
Project located?
[A] Jhajjar
[B] Khedar, Hisar
[C] Khukhrana, Panipat
[D] None of the above
[E] Unattempted

29. In which of the following years, Board
of School Education Haryana (BSEH),
Bhiwani came into existence?

[A] 1969 (B] 1987
[C] 2002 [D] 2003
[E] Unattempted

30. Who was defeated by the army of
Mohan Singh, leader of Mandhar
Rajput, in 1530 AD?

[A] Tarsam Baig

[B] Naurang Beg
[C] Alikuli Hamdan
[D] All of them

[E] Unattempted

31. Which of the following safety rules
must be followed on road while
driving?

[A] Use zebra crossing
[B] Exceed speed limit
[C] Do not use mobile
[D] All of the above

[E] Unattempted

32. Mirror is adjusted to see the
view.
[A] maximum
[C] equal view
[E] Unattempted

[B] minimum
[D] None of these

33. Vehicle registration is made at the

office.
[A] RPO (B] RMO
[C] RTO [D] None of these

[E] Unattempted
34. What is/are the different types of
document(s) used in vehicle
registration?
[A] Insurance Certificate
(B] Pollution Certificate
[C] Forms 20-22A
[D] All of the above
[E] Unattempted

T-2/2-A

28, Wmm'ﬁmmmw%a?
[A] w3
B[] @en, faem
[c] @@, T
(D] 39w # & g T
(£ e

29, = 1 @ fapm ad, ‘a8 FTF T vz, #framn
(BSEH)’ firarft #fere o s 7
ﬁiww [B] 1987

2002 [D] 2003
(E] smrarfaa

30. 1530 3o # HUR TSYA & a1 iz fim hi &
3 ferat qfoa fopan? B
[A] @ ST '@%

[B] rrem '
) srefigpedt gagH

[D] 3w @

[E] 3mRéa

31. amed o w9 = 8§ | e g fam =
EISERCICRCo
[A] SIS SBITRRT 1 ST
[B] Tfd €T IR T
[Ch Hemse &1 I9ERT T HE
[D] 374w Tft
[E] srad

32. 399 TEA °q UV I EHIEITG AT Sa
2l

4] Hferam [B] g
[C] &= [D] 0 ¥+ &
[E] 3R

33. TEA H I wraied § TR S )
[A] RPO [B] RMO
7 |[RTO D] ¥ & # T
B i

34, arEd gsfieu d gy i g @ /87
[A] s SO
[B] Sqo1 SpHToT
[C] ® 20 -22A
o s =
[E] 3wrnfaa
[P.T.O.
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35.

36.

37.

38.

3S.
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What is the penal Section that deals
with driving a vehicle after consuming
intoxicating substances?

|A] 39/192 MV Act

[B] 184 MV Act

[C] 185 MV Act

[D] None of the above

[E] Unattempted

Which of the following theoretical
perspectives on learning focuses on
observable behaviours?
[A] Constructivism
[B] Cognitivism

[C] Humanism

[D] Behaviorism

[E] Unattempted

[=]%[=]
ks
[=]nst
A school for classes 1 to 5 should be
established within a walking distance

of of the neighbourhood.
[A] 1 km [B] 2 km
[C] 3 km [D] 4 km

[E] Unattempted

The RTE Act has been extended to the
whole of India, except State.

[A] Tamil Nadu

[B] Arunachal Pradesh

[C] J&K

[D] None of the above

[E] Unattempted

According to NEP 2020, the Indian
education system produced great
scholars such as Charaka, Nagarjuna.
Who is not in the list?

[A] Aryabhatta [B] Xenocrates

[C] Varahamihira[D] Bhaskaracharya
[E] Unattempted

A child is a back-bencher and is
unable to watch the blackboard
clearly. Therefore, he stands, sees and
sits repeatedly. What inference will
you draw with the student’s difficulty?

[A] The child has a poor eyesight
p 48] The blackboard may have shining
effect of light
[C] The child may be partially non-
attentive
[D] The child is creating mischief
[E] Unattempted

T-2/2-A

35.

36.

37.

38.

39.

40.
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L i ]
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NEP 2020 % 3{6R, Wrdtg fen = 3
e fagHl = I T 2 39 6 =1, wm@?n
el ek R
A] smiwg (Bl S-rshem
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J O R
41. Use of telecast materials

[A] increases retention power
[B] enhances
learning

[C] reduces the burden of the teacher
[D] None of the above
[E] Unattempted

concentration and

42. The main purpose of the supervision
of teaching should be

[A] advancement of pupil welfare
(B] proper utilisation of school theories
{Q] carrying out of the curriculum

J@ achievement of success in
examination

[E] Unattempted

43. Which Article was inserted after the
86th Amendment to the Constitution?

[A] Article 25A [B] Article 21A
[C] Article 24A [D] Article 27A
[E] Unattempted

44. Of the following learning theories, the
one that embodies the idea that the
learning takes place through insight
is known as

[A] Gestalt -

[B] stimulus-response y
[C] connectionist ¥

[D] pragmatic

[E] Unattempted

45. Primary, Secondary and University
teachers are of teachers.

[A] main groups (B} sub-groups
[C] pre-groups [D] All of these
[E] Unattempted

46. According to Albert Einstein,

[A] teaching is a system of action

[B] teaching is an art

[C] teaching is an intimate contact
between two or more mature
personalities

[D] None of the above

[E] Unattempted

T-2/2-A

41, s amfiert & Jram |
(A] st aifs g a3
yiftrmm vd vakrgAr @y A B
(¢| e 6 anvg /v wu A smen B
D] 3w 4 2w Eam
(] srsrfema Eﬁ]%
42, fowm e joade 1 q@ 339 g afao
{lad | w3 % e 4 g
(B] ferene % fagrat #1 3t =7 & Fwm
[C] UTEIH ! FrET=ra
(D] when 4 werar 1 3uefs
[E] sraféa

43, dfaum % 86l dvivA % Tv=r fFa A=
o1 wmfiret fepam T a7
[A] =% 25A [ F=% 21A
[C] 3F=dg 24A [D] #HI= 27A
[E] 3Rt

44, Fefafga siftem fogdl % @ v 1 92 fa=n
s S & T siadfe g s s S 2
m%ma
[B] icaTg-ufdafsean & &9 §

[C] ez & &9 |
[D] ¥afesw % w9 1
[E] sTrRmfda
45, wrfies, Arefies vd fevafaaen fesd
& forere|
W gmeg [P s
[C] g el [D] wH &
[E] st

46. TS MR b FIAR

[A] e weh fepan i st R

[B] | fveqor weh e @

e fugm, @ @ § sifvs wfwel % o
Fe T 2

[D] 39 # A 8 7

[E] arrfaa

[P.T.O.
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47. Consider

48.

49.

50.
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the following statements
regarding the National Research
Foundation (NRF) :

1. Ttis to be set-up as an autonomous
body envisaged under the NEP
2020.

II. The NRF aims to fund researchers,

working across streams in India.

Which of the above statements is/are
correct?
Code :
[A] T only [B] 1I only
[C] BothlandIl [D] Neither I nor II
[E] Unattempted

What is the aim of NEP 2020°?
[A] Inclusive Development
Education at school level only

of

[B] Inclusive and Equitable Education
at all levels of School Education
only

[C] Inclusive and Equitable quality
education at all levels of School
Education and Higher Education

[D] None of the above

[E] Unattempted

The appropriate Government may
allow schools to hold back a child in
the 5th class or in the 8th class or in
both classes, if he fails the
reexamination referred to in Sub-
Section 2 of which Education Act?

[A] The right of children to Free and
Compulsory Education
(Amendment) Act, 2019

[B] The right of children to Free and
Compulsory Education Act, 2009

[C] NPE

[D] SSA

[E] Unattempted

National Education Policy 2020

recommends

m multilingualism

[B] monolingualism

[C] standardization of curriculum

D] standardization of assessment
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